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4
 of a number is 20. 

What is the number?



1

4
 of a number is 20. 

What is the number?











162 ÷ 3

162 ÷ 6

324 ÷ 6

694 – 365

674 – 385

551 – 262







Scaling and Ratio Build 1

Max has 3 times as many conkers as Ben.

Altogether, they have 12 conkers.

How many conkers does Ben have?

What information 
could be hidden?

NEW
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Scaling and Ratio Build 1

Max has 3 times as many conkers as Ben.

Altogether, they have 12 conkers.

How many conkers does Ben have?

Which picture represents the question?

12

Ben

M

B
12



Scaling and Ratio Build 1

For every 3 seeds that were planted, 

1 seed grew.

60 seeds were planted.

How many seeds grew?



Scaling and Ratio Build 1

For every 3 seeds that were planted, 

1 seed grew.

60 seeds were planted.

How many seeds grew?

Which picture represents the question?

60

Grew

60

Grew









Odd one out

3, 6, 9, 12 4, 7, 10, 13

4, 8, 12, 16



Numicon shows 1st term

3, 6, 9, 12 4, 7, 10, 13



Numicon shows 4th term

3, 6, 9, 12 4, 7, 10, 13



5, 9, 13 4th term

10th term





Fixed Amount + Variable Amount Build 1

DECONSTRUCTING WORD QUESTIONS

At the bike shop, it costs £6 to hire a bike plus £4 

for each hour that it is used.

How much does it cost to hire a bike for 5 hours?



Fixed Amount + Variable Amount Build 1

DECONSTRUCTING WORD QUESTIONS

At the bike shop, it costs £6 to hire a bike plus £4 

for each hour that it is used.

How much does it cost to hire a bike for 5 hours?

Explain the Mistakes:

£6 × 5 + £4 = £34



Fixed Amount + Variable Amount Build 1

DECONSTRUCTING WORD QUESTIONS

At the bike shop, it costs £6 to hire a bike plus £4 

for each hour that it is used.

How much does it cost to hire a bike for 5 hours?

Correct Answer:

£4 × 5 + £6 = £26

£4 £4 £4 £4 £4 £6





Fixed Amount + Variable Amount Build 2

DECONSTRUCTING WORD QUESTIONS

Make Your Own Pizza

£3.50 for the pizza base

75p per topping

Amy has £7.

How many toppings can she afford?
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Fixed Amount + Variable Amount Build 2

DECONSTRUCTING WORD QUESTIONS

Make Your Own Pizza

£3.50 for the pizza base

75p per topping

Amy has £7.

How many toppings can she afford?

£3.50 75p 75p 75p 75p 75p

£7

Amy can afford 4 toppings.





Fixed Amount + Variable Amount Build 3

DECONSTRUCTING WORD QUESTIONS

You save money by being a member of 

the gym if…

Gym Prices:

£8 per session for non-members

£5 per session for members

Membership: £20 per year



View Deconstructing Word Questions Samples

Success…

A challenge…

Next steps…

Question:





512 59



For each number…

• How many digits

• Sum of the digits

89

561 1056



The sum of the digits 

of a number is 8











4      10     7



The sum of these 

numbers…

The difference between 

the largest and smallest 

number is…

4      10     7



The sum of these 

numbers…

The difference between 

the largest and smallest 

number is…

4      10     7

4 10 7



The sum of these 

numbers…

The difference between 

the largest and smallest 

number is…

4      10     7

4 10 7

4

10



The sum of these numbers…

The difference between the largest and 

smallest number is…

3      6     8      7



The sum of these numbers is 20

The difference between the largest and 

smallest number is 4

3      4     6      7



The sum of these numbers is 9

The difference between the largest and 

smallest number is 5

2     7









7







2



27 3



2



4

True or False?



4

True or False?

9 2



4

True or False?

9 2



4

True or False?

0 21



4













8 5





8 0 5× 4

80

50

80

50

8 4 5× 0



8 4 5× 0 8 0 5× 4

80

50

80

50

4

4



10 × 10 = 100  

11 × 9 = 99    -1

12 × 8 = 96    -4

13 × 7 = 91    -9



10 × 10 = 100  

11 × 9 = 99    -1

12 × 8 = 96    -4

13 × 7 = 91    -9





Take any number of counters from one pile.

Take the same number from both piles.

Win if you take the last counter.
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Take any number of counters from one pile.

Take the same number from both piles.

Win if you take the last counter.
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